
Lucca solarium 
13'X17' 

Model：LGMF1480

User guide





4
5
6-25

IMPORTANT : Failure to follow any of the above instructions will void the warranty.
For any assistance regarding your solarium warranty, contact the customer service 
department of the Club Piscine store where you purchased your product

IMPORTANT : Failure to follow any of the above instructions will void the warranty.
For any assistance regarding your solarium warranty, contact the customer service 
department of the Club Piscine store where you purchased your product

.

.



department of the Club Piscine store where you purchased your product.
For any assistance regarding your solarium warranty, contact the customer service 
IMPORTANT : Failure to follow any of the above instructions will void the warranty.

department of the Club Piscine store where you purchased your product

.

.

Shipping costs are included within 100 km of the store, for any missing
to verify NOTICE: The purchaser of this product has 30 days from date of purchase or delivery

their merchandise.
parts or manufacturing defect.

IMPORTANT : Failure to follow any of the above instructions will void the warranty.
For any assistance regarding your solarium warranty, contact the customer service 
department of the Club Piscine store where you purchased your product

solarium

SOLARIUM



1#

Bolt  (M6*16)

157

Qty

2#

Bolt  (M5*16)

76

Qty

3#

Bolt  (M5*48)

24

Qty

4#

screw  (4*16)

16

Qty

5#

screw  (ST3.5*13)

32

Qty

6#

Bolt  (M6*35)

16

Qty



IMPORTANT : Failure to follow any of the above instructions will void the warranty.
For any assistance regarding your solarium warranty, contact the customer service 
department of the Club Piscine store where you purchased your product .



A
Screen Panel

14

Qty

A1
Screen Panel

2

Qty

B
Door Frame

2

Qty

B1
Screen Door

2

Qty

B2
Door Track

2

Qty

B3
Door Track

2

Qty

B4

Door Stopper

8

Qty

B5
Door Lock

2

Qty

C
Panel Connector

28

Qty

D

Post

4

Qty

D1

Base

4

Qty

E1

Crossbeam

2

Qty

E2

Crossbeam

2

Qty

E3
Crossbeam

2

Qty

E4

Crossbeam

2

Qty

E5

Crossbeam Connector

4

Qty

E6
Corner Cover

4

Qty

E7

 Cover plate

4

Qty

F1

Spacer

2

Qty

F2

Spacer

2

Qty

F3

Spacer

2

Qty

F4

Spacer

2

Qty

G

Iron Angle

4

Qty

G1

Iron Angle

6

Qty

H

Roof Connector

1

Qty

H1

Roof Connector

1

Qty

J

Roof Bar

4

Qty

K

Roof Bar

6

Qty



L

Support Bar

2

Qty

L1

Support Bar

4

Qty

L2

Support Bar

4

Qty

L3
Connector Plate

4

Qty

L4
Connector Plate

6

Qty

L5
Support Bar

8

Qty

P11
Roof Panel

4

Qty

P33
Roof Panel

2

Qty

P22
Roof Panel

4

Qty

P1
Roof Panel

4

Qty

P3
Roof Panel

2

Qty

P2
Roof Panel

4

Qty

Q
Finishing End Bar

2

Qty

Q1
Finishing End Bar

4

Qty

Q2
Finishing End Bar

4

Qty

R
Roof Panel Plug

20

Qty

S
Finishing End Plate

4

Qty

T
Finishing End Plate

6

Qty



1



2



3



4



5



6



7



8



9



10



11



12



13



14



15



16



17



18



IMPORTANT : Failure to follow any of the above instructions will void the warranty.

For any assistance regarding your solarium warranty, contact the customer service 
department of the Club Piscine store where you purchased your product.



REV.25


